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Introduction

How to use this booklet

Example candidate response — high Examiner comments
| It is useful, although

s Jamﬁg_@&_ﬁms ,_Ear.mmaﬁﬁiﬁ o not always ﬂecesgaw

: i The proces zf - procuction . | to start off with a clear

/Answers by real candidates in : il S, @ ?Examiner comments \

exam conditions. These show you o are alongside the

the types of answers for each | Cenes.. Louel q_;wm answers, linked to

iscuss and analyse the answers | - | answer. These exolai
with your learners in the H%A&L@Eﬁﬂ_?}ﬂ&i‘_ where and why mzrks
classroom to improve their skills. ~ Peage Sl .@cepanmeie) © i
oL 90 Ce o €40 were awarded. This
imé’mp &cﬂ; ﬂ,_—bé sk Lot 3 lA) ‘ 294 helps you to interpret the
§ X — )
' There 1 ‘J{wg’wﬂ standard of Cambridge

incs&se_ DA cigmgh,cl 4 Lois ventovy | exams and helps your
L L m MEM&?QMD Q | learners to refine their

Q(am technique. /

How the candidate could have improved their answer

The second cost of customer safisfaction 1s not as well Thi lains h h did Idh
benefited from acknowledging that products will be un Is explains how the candidate could have

hence leading to disappointment. improved their answer and helps you to interpret
the standard of Cambridge exams and helps your

In addition, three benefits have been explained. Presu learners to refine exam technique.

rather than foreseen but the candidate has explained s
answer.

Common mistakes candidates made in this question

(a) Mot being able to move beyond Level 2 due to not ury . . . . )
of these two types of expenditure and the effect of this o This lists the common mistakes candidates made

the two expenditures and again the effect of this on the | in answering each question. This will help your
learners to avoid these mistakes at the exam and
give them the best chance of achieving a high
mark.

- J

(b} Confusion over what classes as an internal source o
sales revenue or debentures.
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Paper 31 Case study

Paper 31 Case study

Question 1

Example candidate response i high Examiner comments

A

\‘\\Lﬂ\m'\ (esowce rV\OmaAN\PJ\f* 15 the sﬂag_aju_vﬂ?@(banﬁ\_ 0 It is good practice for a

candidate to define key

N
of e C.(:Qe.c/QC\/.Lma/.mﬁr.v.\p_nli_of._ﬂa‘m_r_awic .Co.q_@/.\/x{)b%@b’é- terms in their answer.

'&45__%\&&;(‘_’(@__%1’(&9. Yre bU\A.;.MJ.J__.%M«.\—&_CQMZ/)@\:?.EM. This is a good
adv 0.0 : definition of human
CJ.E...CS__.Q\.ML\RM b e paabs b e AR TN ) S resource management.

_t\ae_cﬂcgzu_c’cr_umhh ﬁrx&quk@*lwoo_ﬂ@_ ach.Tam_ P
"w;_u,cxe@e.mqm.uﬁx_ﬁ_ﬁ_m@iM_ bl ot

The candidate makes
effective use of the

X’@Q{Q@ e Ce/\.p&l_ {0 (s (l_{m(‘,q_\L_ _CO.A_QP_ﬁ)—\ﬂijE.ﬁL?_\L‘EL\____ case material and
for 9K?\\IP(& odyikans . TRe conld_hove_onTiwmodk | recognises that the
ool He d{m\m.ms__tx,s_:lr,ketr,__moJcL\Lui:.o.r.\_u:..\.l_ pceoae flexible approach being

e

éme \-o Yac gvo}_2~ _\o _Sﬁ_u.\_,LC_L_(_‘ ﬂMle _.H'i _— _].:\V,;u_ used Iepresents a
_CoﬂLu@c&_&g;L‘)LqJ_M ;u?thj_ especs ng% 3 thardastyle of HRM.

'W\gse fQuae. mends Fﬂy\ﬂ,Lkw.m@J:fJ-_\o. s o .ramJn,_ candidate makes
P )

¥ . .
r\ecrfm@(xsiw__m,(»r_%dc shase ap 23 clg_u_p_qgc ‘ effective links between
proret_maroios the changes to

J . So /- contracts being
MO(?OV(’[} Qpperl,\ﬁ %M,MLCJ__W\.U._ eey introduced, the theory,

Zeto_ o s condacls_Zould _L\d__so.m(’__@asilai_\i%_ and the possible
o (T€ one I\A@_[o_ﬁgm_wl\\._\o_c_caﬁe&suﬂ;.o@_”r.‘ Ny impact on CJE in
mo;pez_clsé_\_m_'uﬁ\x_&f.ucgwﬁ_\s%p.ux_co.éu_oz;_x’ﬁm«@\agm context, i.e. referencing
O ¢ ot called no poysrent will he pmade for thenn the importance of
\«\waer/ CiE o ,(_mQﬁs_ILD_»D__C_O__ _e_ﬁltlxc_emz_?_co;_\,w/l)@ reli%\bilit?/. A |i);lk is
Qs oreann %ko}_&&ﬁ)_loﬁ_@a__coyii_bmc_s_ﬂyﬂd_zda— made to the impact on
onkea c},s."w_iﬂ.\_"o_\t\:ew@mvadnf}o_u_,_s_q_ﬂ'x%j_m%._ﬂo_\_he___ market share. _
cunieblc_lor (TE ok durekiores, disiupling the | | Hovever tne anaysi
Dro&luﬂ‘?(nl\ RI9.cess ;\f\:i\f_aomm \@(l, bo ‘035 of of this fink could have

U been made clearer.

\<s c&es >

E\r}}x(mgf_@)_m@o gees_ =\ be ((a({}w“rf’(uo Yo \earn e Knowledge of zero

oew stAills ‘e ﬁ%c_wﬂ&jfbbji\é\j%,jgis*cqu,ﬂ&% hour contracts is

L G368 M o_&&m_&%&@m@_‘mﬁo Aq;_ﬂ\_o)r_ Ugh_n demonstrated here,
L Se

Xy fvakle _
hor_emplogeec on Yrosnicny ts essentiol \& Bl B along with an

explanation of how

U J kal -
\Negegec mﬁﬁd\ comQ_[L_\ ¥o_\.r_uzf_f inobour these could reduce

o\(o&wk Wit -2 S = i woneux e s 3 S C o m = S costs. This point could
v ’ have been linked back
to the objective stated
earlier.
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Paper 31 Case study

Example candidate response i high, continued Examiner comments
ond_dastainy \thouc tack pec engsee s, Cicantl] | © Tre cindate ot
Q;;meam vbs f-oc@k Maca fay.oce offeccompebibive i Y
{ 09 the impact of
?(?FFI_.T’D_IA.L\MEMP ?l‘i fY\CUrIZ\(’+ Sha,w' (If: 23 0/1 Ho'Ne\/P{) employees learning
| bestningsmis cosdly speceally Poc by tadusbere \LiKe new skills. This is
[ enagnes Mok mzaj_,i’ri@im_;hwmgmﬂg__ underpinned with
Qnﬁ B 1 aideble Bor o Lk Kk reference to theory.
AR TD 15— A0 F-SUa "Qf—“‘r—q"—éb““f“% oyl MUCART The chain of argument
is extended to explain
(6] that lower labour costs

could increase profit
margins and enable
the firm to offer more
competitive prices,
leading to an increase
in market share.

@ This answer
demonstrates a sound
understanding of
theory and makes
effective use of the
case study by linking
together the different
strands of the material
provided.

Total marks awarded =
9 out of 10

How the candidate could have improved their answer

The analysis could have been developed further by extending the chains of argument presented, for

example, by explaining in more detail how demotivated workers might work less effectively, which would

therefore impact the quality of the engines. If engine quality were affected,t hi s coul d damage CJE
reputation, resulting in lower sales and a consequent loss of market share.

8 Cambridge International AS and A Level Business 9609



Paper 31 Case study

Example candidate response i middle

Examiner comments

1

ﬁ\c:ﬁ\’b& humen  @sowred mmnc'ﬂ\emﬁ+ 13 on ._,,anl‘

‘Hmf} ams —I— r\a@f-mm‘\ c(,sifs in q]wSm&S of  Cumpuny m,é

So m.mL\, lawS\ﬂCSS p%—‘ﬂta‘@ orné P&q*l«c‘ﬁ“m&ffﬁ’ﬂg

the  shebqy . 1n CIE_wll mnmd- e pusimus

wdgperent wens: Fissh ofpecs in mm. Cortheatts

woll  help CIE  redwee overhind ok omd  male

‘“ﬁ, Lms\nessgtcmpe}l‘lw\. -Zem CmM’l‘S cz'“vwb Arlﬁc

‘7\/\5\'\{%5 <}v ‘Po»q emﬂws cm\y -tk,,. howes wvﬂ«‘.l b

oo M dous Abat thoq wibed omd CIE com be

able & Ml w cmrlﬁ{»h\ o 4«,@{%}1"\‘\‘ +imes depeadil

0 on_ demand ve em?'\uqecs com be called -+

F\Jz.sy +bmes "'kom Wi iurrnq

‘_l.»w-hve;r m é,g&q AwanH(S ane H\th maiyy emf/l-ﬂ-:ﬁﬁs

oWk have many 200 contratk and s n:»"IIL;"}- o

he cvalablt tn CTE warits them dhich woll anderH

1'>wsm¢s§ opt’;“a"ﬁms mé M tevels 5£ m_a:l-:vq-‘ﬂm £

employees W*N e .\ouo as H?u—q Bl e eosningy

\ous =] ‘H:w.vn L "H:_;q Wre e ,Cu“ Ame meﬁ

W"M'c"‘ W"n algo GL(EFLC{" c3e o'pcmsr-m naqa‘l‘wﬁ‘7q

e

\ack‘}wmb —n:,'s\ m“
M\P sdue  costs P CTE %A malee  them Curnrﬂf‘:é’\’p

0 The candidate provides

a partial definition, but
does not relate it to the
management of
employees.

A reference to the case
study material and a
statement about the
impact on costs,
though without
analysis.

Good knowledge of the
possible impact of zero
hours contracts, with
some brief analysis.
This could have linked
back to the issue of
profit margins identified
in the case.

Knowledge of the
possible negative
impact on motivation,

although this point
could have been
developed further and
context given.

e A very brief answer
that demonstrates
understanding of a
more flexible approach
to human resource
management, but there
is limited analysis and
application.

Total marks awarded =
5 out of 10

How the candidate could have improved their answer

Although the candidate provided evidence of understanding the idea of a more flexible approach to human
resource management, analysis and application were not developed in their answer. The definition of flexible
HRM was only partial and references to the case study were not developed. The candidate made statements
about the impact of temporary and zero hour contracts but did not develop any supporting analysis linking
their ideas together. Application could have been improved by using the case study information, such as the
competitive nature of the market, the impact of changes on engine quality and the low levels of profit made
by CJE.

Cambridge International AS and A Level Business 9609 9



Paper 31 Case study

Example candidate response i low Examiner comments

_U;Q_) Huran_vecouvce onanogeseent tr_in_chorge Q?_{ecLQAguﬂ_“_

mo_(\;&_s,_é_dhqg.{bm_mqﬂu.,m.?lamiu:j___hco:miw_ﬂm&chedm,
m(z\os&ez(_ﬁ'_.wﬂc\s___o.\:&_al&h_mgﬁdncl_og_.wpxlc.exs.__.&o}__om\aj_
Yaic_but an_effeckue husan vesource cnanagereat _uwalk fiod cunys
Yo__vedwe_tine_\abouw=bumoues (e and [ or__auceateeicrn vate.. {aboui |
bumooven_voke n_the ke 0k udichh woilkess leave Hne \db, uheress
denlecinn *&_%Luﬁ_hmﬁ_mng_&&}s_dkﬁ_%_&é_&___

\1\otmx_.':o.ke,._Tn-a!dw__!o_bxinﬂ_ﬂ\e.m_.dowﬁ hunnan © e rounce 0 A comprehensive
mamggme&\}c_ﬂ;wmé__&_mgﬁigﬁaﬁ;\ﬁ.skgg{_mwuﬂk_neﬁ:.-(iaaji definition of the role of
oacbinaeiol_ad_ Bsancial _moduakors human resource

Cavconty, Canexon_Tok_Gngues aims Yo cuk (s cosk and management.

| TR Mne._xensgn_l:ho_v_(’—__uu_.wpkosgeu_mt&_b.hL@qt;w&_A_
Yo Voo % new_sKillg to_alm;g_ugm@.\ﬂ,_m;bl&té_m_ .
"\ava__b..e_m_.ciwm_sw.o__k\oum_m\ﬁtack_and__'i\’_‘fu_i_@_te_%(f&o_

¢M%¢%_%&P@%€%_M_m_mhaﬂ -leven 9 This links the desire to

Ympovonnd__wonky: Taw__ Sosck-tevon_Conkvatk a eoten cut costs to the various
" h;‘ Gl Y b < Pr— waank changes made. The
SS_“—_“ BRpess e “f"“ oot (WOEeXs vedunant. candidate is, however,
Yatg m_a&mllxj_cloeé_kecausa_.& UQM_OL@_.M&\A_L__ just repea‘[ing e|ements
reduvosk_Yhen Xney can gpead reode tmage of iwe Cogina of the case study.
Ladine s, Ak M_*&ww_&ejﬂhaua_)&%:/._ﬁmé:&&_m‘c_&h
thane_ond_t§ vedumank okt sty ciente Lodmsepdatina | | @ Here, the candidate
Oﬁ“ Lastness then  Wia_soadeek  Onaxe Con fall 0¥ Camexonh an_alysehs the benefit of
_Sd_ﬁﬂwm_m_aw_%_&&bmmwa&m_sh&eﬁ%_%__ using short terr_n .
. ) contracts and links this
QJM_NMM_RMHL\A&_MOKUM_‘&MQ&_MQA_ to the market share
and_noo: fivancial _onddvalon  can e done. Cotp _exanpld shown in Fig.1 of the
Yeavn_poovl, hoi&mj_,#_:\ob_o,alﬂgmmb,_de.\o_%atsb_n,_xob_em‘xhmg\’t_ case study.

God_olso c}qu;Lﬁ‘g‘.@_e_g @sﬁo\hbj creedey  gee. hen
e Saff o __Q\_Brm_qr_m%gmx_%_._ioﬂmw and discucs e
mA_Sd_ua_en%_?on&m_ha_g_V\me_w_aoﬂ_&AnMMatw

From this point on, the
candidate loses focus
on the question and

W Cronked Degalise con \e Wil Yerefth benefcial analyses different
for Cmmpﬂ‘?_SQk_@Jjﬂé_MiM_‘iMwwl\L_ﬁbmam forms of non-financial
i _spe ik s analise JA&.U.Q@ML mri_i’mﬂ:mjm--fokm motivation. These

points do not answer
the question.

Mo \ooleexs gome caa bc_&eleﬁa,t&&_ﬁqi»_w_mmm

10 Cambridge International AS and A Level Business 9609



Paper 31 Case study

Example candidate response i low, continued Examiner comments

Jo_Mae_tows \ewel qaft) and__deciaion onalericg. __()OUJMS_
Can__clad o S sacages ex. Movogen can ale
'CD‘\C@Q}'.‘(Q&_QLQML\Q%\L,@QQDH\S_ SN VARUSY, oL T S
factors _of tae  Lusuness Mulhlaslu,wq ox_pnia U’ epecialih

choald be lined 6 M_Op@va_hm__ (36 do nok
stop. Only tioned _clafl Gronok _should Yoo hued <o kaak

Mne Q«m Can Sawe wp dn cosky
Tn_oddibsa ¥ M detUfuf and wote  wolo  ave

s |UMMQY_‘E__SV\0¢L&_|9 e Lo d, o Mave tag |
dwue o _do bLellen and wiove on on_ Sweiv Coveew.
Suaa Aa\\c&h&_\&o«tcmu__ug.d&__\'\e,w C3E_to ke Mnew

Nonan_tesouvce. appreaeln vaore Revitte _and ?yoiucb_J_ Total marks awarded =
4 out of 10

How the candidate could have improved their answer

The candidate did not focus on the impact of the changes made by CJE. Instead, much of their response
discussed a range of approaches, such as quality circles and delegation, which did not answer the question.
The candidate did not fully appreciate the meaning of a flexible approach to human resource management,
i.e. the attempt to convert the fixed costs of employing workers into variable costs.

Common mistakes candidates made in this question

Weak understanding of flexible HRM.

Inaccurate definitions of zero hours contracts.

Confusion between temporary and part-time contracts.

Candidates provided analysis of the impact of the changes from the case study on the employees, but
gave no analysis of how that translated into an impact on CJE in terms of, for example, productivity,
labour turnover and training costs.

=A =8 -8 -4

Cambridge International AS and A Level Business 9609 11
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12

Question 2

Example candidate response i high

Examiner comments

Cor Ou\bou:ur\é\ Yo AQQ>-

2

oz '$Qp___i;e

\mmFuLLCQS )t__‘acr___ﬂml e $Q°°

Dok cosh pec blaode = $20 3570 -5 30

FOr vALLCOL 4 Co A "‘"U s
v o0 VDO A .,

E}LCL\.__;(}&S* _og.ar_,_b\acle - $600 200 :ﬁéQ.o..q-Q ______________ |

600

,-thkinﬁ_yﬁ;jﬂa&f—ﬁg _____ 4455@6-§g%0

\Q.

Oukseoires (}3_3_3 hmhéﬁ}_khmoo.
’Lo{:_ﬁr_@oc_ﬁu._\ LAl __r_oc,egj__\”{xs,.)(eactog : Tk within

kmouthﬂm Qx;ﬁmm_awa_ Vi bmo
*\\mi' ’\‘\r~f’ Duu“{\ésjt op \o\m&c M\eﬁfo\d‘m\ifun;g\s =

\ess (%5008 nd Veece ts o dillerense in uatttosh

of _§ 106 Thay_coudd inccemne the proM‘ mmglm__m
CTC b sk sdlle Mo X LA engices gﬁ Hee some orioe

A\SQ.:}\N LCQ\AM_QMOVO CIE )1‘0 o@er (‘om@cL {dyve

mnes Yo MMI\,Q(M{\ W onacied c‘hmc_o_o L b

&@W \mrs_\m_g)’\u_fyw\ér Ls\la{c.mxi_&nr%&l-hﬂa_

A calculation of the unit
transport cost.

A calculation of the
additional unit fixed
cost.

The difference in unit
cost is identified. All
working is shown by
the candidate.

Mark for (a) = 6/6

(4]
(5]

An accurate definition.

Recognition that the
unit cost of outsourcing
is less than building an
extension. The
candidate uses the
calculation from part
(a) to answer the
question.

Stating the
consequence for the
profit margin
demonstrates analysis.

Further application that
highlights the potential
benefit to CJE of
outsourcing.
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Paper 31 Case study

Example candidate response i high, continued

Examiner comments

Moceover 1\ Yales Yokal of - L{am/\ika_,\o--_o_rclar ond___
noL%:ds\der_wLJ/\_xs_s}\or e None
\~a NS ('QLPQ.UE -_J‘__Cx_\ )Jul%_&lc}or _wc\m}u h_-_.__.
B N\or\H\A TRt -—0\-—L@f\3 (J_enw& m\ao ‘\*\N’ busdee s
N CON Y mmcm_c__@ﬁr J._.OI‘GLQC@M/\M‘(;_.
@L.es5 fop o,,:i)L \Jt&i)_o_ccyi gcaa@..%?ele. foc % JM{;
Onoiaes 6 5_0_Spofe ] &__a_:t\n’_m_.\s_ .&ﬁ__
Q(\S,\-ol“g_’_&b ﬁo_,.@(ﬁﬁ_a/o;m_o /\mﬁs_ngeoled e -
Mog Ve, QuXSouCtA O 1S NBLE. (\\m\nlw_%e_oam
e non}mrﬂ;_loz}(wem %L@AA__AO @_._Covioi_ke_,_«_
(LMM SA_canc. ok lﬁu{‘eaoe_l M_QOL fones .|
' ‘b\owcv‘(’f Wit in (’ofo,u by QP exs oo ,Q,u_}r
W)erl Ht Ly Qo\_@r\(e\re( s_rLHg_‘j)vo @Jz_-w\ﬁ.ﬁwmwiz\.kc__
\\Mg Caﬂmu{:j_m_mﬁe_o}_&ﬁm;.m_@f béuc,@maa..—
Moce Oxed o bsaill bc_syfeachwa waro&uc,@wn“__
nm\“j_m_\n,uc,\;.w)_\l_\ ACCEONE. ‘\:\{X’_Ff%(’ Y- ?I\O
f\c@w e,,abgcﬁéaj u\ﬁ.(Pﬁo 2 _M(M&U\O I
B, B\e_(cv\_o_,/_@négaea&gn% O
o0 \Am OAAAL Qoo Yo YLa Msar\w‘ol/j__Cm.gSDC g
s S \on _&Ag \T_W_SO_OICQ&Pk\_\/e( : e_s_"\u*\’].___
\\e ﬂ’\\ 0&9\.&7
A\%v 3 mmﬂ& M @’l_cxba_‘_\&_ .o/r_LesScf\fL*nL
(eguiee sends np_.@_k_ma?ms__ﬁouu_%_amg_j%upi&j condd__
Y- mmrxkq,mﬁ&_m N0 soun,u5 o ed 2 Perhaps
CE_condd e o psckion Y6 e Yo thb_
o e o\\}:mwc;ed_ sdes \sull_sr\/ws_\m\\_q&
rm\Q e CQE. <0.E¢ AS. Q_((D_@r[on}_g_&[_aek_er\@w&
T D\rmﬁ heleve ¥, __Q&Sow@ (g willk
a0 )cohlf_%o_m&ﬂzw)f_%&_ﬂg f_oOOJJ-Lsz rop_ 00 h _m_AOP
%M \M%&LMY\MQ_ (\ 5606 \wan
\,BN’ QX\:\—\r\j \?Qd@ _C_goof;\ T}\c A\ oct;r CSF
e oonad“_wu}_ Yo vaz,caw)f.,lk:__saﬂg 5. Norover, oubso wetivy
L \m\\ gﬂ%&b&.{g‘;ﬂm‘:@ﬁ&)uwﬁ w\/\/\r)\ ) '\'\:‘P

most ST mp\m]\L co.r}o( an CIE CJPQ{Ql’.Lo_LU:csLﬁ

s Yo n\oj_t_t._—COI\_/BDu\orﬁ ATl
Wouserer ,___SON‘SZ._CLQIQ-_OWC. [orecan l'_r_ 2 ] Yowr celrable
{s *\r\w&_olaﬁu_?_/\\sg_ﬁbmﬂ_ Maﬂﬁ&afa_@&___
(\Mn\orl Sm,&\_&[l__\‘\:‘e_écbt r..-iﬁ&ufr copserred wikh

Ao L. @

@ The candidate makes a
judgement regarding
the risk of expansion if
economic conditions
change.

@ Some developed
analysis of the
problems that could
arise from expansion.
This answer is
enhanced by the use of
appropriate terms such
as Gpare capacityéand
dorofit margind

@ This point could have
been developed
further.

@ Further application to
the case study.

@ The candidate
develops their
evaluation by making a
recommendation that is
supported by their
earlier analysis and by
identifying the most
significant factor, using
the case study
information to support
this.

@ This answer shows
good understanding of
relevant issues and
uses case study
information throughout.

Mark for (b) = 10/12

Total marks awarded =
16 out of 18

How the candidate could have improved their answer

The candidate made a strong case for their recommendation, using their result from (a) effectively. The
candidate gave due consideration to both options, but the key issue of quality was only mentioned but not
developed fully. Analysis could have been improved by building more extended chains of argument.

Cambridge International AS and A Level Business 9609
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Paper 31 Case study

14

Example candidate response i middle

Examiner comments

2

(@

d‘mm:» mcos\' pec blade o cue w:lsmq au*smmnn\

L ADF cnd ae o fhe ophon  of mcntcfsmj its

quﬁcuh iS as Qvﬂvws Yo

@ oubswuwddnq & A0P

Annvm‘-} ca\,rw{ﬂ-\ = So0D

Apdal %nsrm"' st eec—blade = § 1pp 000 Q

dolol comdacted prie A§2 850 LD

Avnad Bced  coshs = § G DbL ovo

-

2 dodal Cosks 2 $ 100 poO- + §2350 bbo 4+ 6 pob ped =§ B S0 VoY)

=" und costs pec blade = $5° $ 950 boO

Soepo

= & 1390 9

(k) tncreasing Capacihy =f  eoesH L4 {-'e.dvfy

ol \(armlaio costs 2§ 500 X 3Zp00 D $ | So0 000

Avsunl _pred  cosks = $Goobou 4+ $ Epooooo @

=$E 6D oL

L ount cesds D § BEoo,000 + $ 1500 woo

3000 Coutput)

5527300 / blade

uln r\,m S

He Lm’mw betoen dhe oo oplims o

s 3 D?(?D =% 13902 $ 910 - Answwc-

0 Although this is not
stated explicitly, the
candidate has clearly
calculated the unit
transport cost.

9 A clear method is
shown to arrive at the
figure for total cost.
However, the fixed
costs of the existing
CJE factory should not
have been included
here.

e Unit cost calculated.
OFR applies.

e Existing fixed costs
included.

e The difference in unit
cost identified.

Mark for (a) = 4/6
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Example candidate response i middle, continued

Examiner comments

5

()
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@ It is useful to make a
recommendation at the
start of an answer, as
this can help the
candidate focus on the
question. It is then
important to develop a
range of points that
support the
recommendation.

e Knowledge of a
relevant factor
identified.

@ Relevant application.

Q Some brief analysis
here. This point could
have been developed
in more detail to show
greater understanding
of the significance of
being able to increase
the production of
engine blades quickly.

@ The initial
recommendation has
been supported by
subsequent
commentary.

Mark for (b) = 6/12

Total marks awarded =
10 out of 18

How the candidate could have improved their answer

Although the candidate showed they understood the significance of their result from (a), their response
would have benefited from further analysis of the issues and consideration of the advantages of extending
the factory. Thec a n d i kowledgesand application skills were sufficient but their chains of argument
remained underdeveloped.

Cambridge International AS and A Level Business 9609
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Example candidate response i low

Examiner comments
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©

The concept of unit
cost is understood.

The annual fixed costs
of the existing CJE
factory should not be
included in the
calculation.

The contracted price
per blade has not been
included in the
calculation of the unit
cost for outsourcing
production.

The unit variable cost
has been added to the
existing fixed costs and
the additional fixed
costs before being
divided by 3 000.
Incorrect method
demonstrated.

The difference in unit
cost has been
calculated here.

Mark for (a) = 2/6

(6]
(7]
(8]

A definition given.
Some application here.

The candidate
manipulates the case
study data to make a
valid point here. This is
one way of
demonstrating
application.

Some brief analysis of
the impact of lower unit
cost on profit margin.

A brief answer that
identifies the relevant
factors but does not
contain any developed
analysis or make a
recommendation.

Mark for (b) = 4/12

Total marks awarded =
6 out of 18
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Paper 31 Case study
How the candidate could have improved their answer

The candidate identified the relevant factors using the case study information in (b) and referring to their
answer for (a). The candidate could have improved their response by extending their analysis of the factors
identified. For example, although the candidate recognised that outsourcing would result in earlier deliveries
than increasing output, there was no analysis of this benefit. As sales have been increasing and CJE is
already operating at 95 % capacity, the business risks losing sales to competitors if there is any delay in
increasing output. The candidate did not make a recommendation regarding outsourcing, as required by the
guestion.

Common mistakes candidates made in this question

2(a)
T Includingthe existing fixed costs of CJEOGs factory in the
1 Not dividing the transport cost of $200 by 10 to find the unit transport cost.
1 Not calculating the difference in unit cost between outsourcing and increasing the capacity of the existing
factory.

2(b)

9 Not giving a balanced argument.

1 Only considering their answer from (a).

1 Not making a recommendation regarding outsourcing.

Cambridge International AS and A Level Business 9609 17
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Question 3

Example candidate response i high

Examiner comments

3. CJE_directors are determined to enter the market for the supply of engines
for helicopters as profit margins are substantially higher than in the market
for engines for other types of aircraft.

The marketing director has been negotiating with government officials in
country Y where a contract could soon be signed if substantial "facilitating
payments” weraade directly to them in foreign bank

accounts.

If CIE decides to proceed with these payments, the company would not consider
corporate social responsibility, which means that 1 ould not behave ethically
in its decision making by not attempting to satisf g

the greatest amount of stakeholder groups possig'
company's objectives.

IF CJE decides to proceed with these payments, the company could potentially
be exposed to heavy court fines as it is against the law to take part in such
actions. This could potentially mean that the already unsatisfied

shareholders could stop investing in the company and potentially invest in
competitors as the market CJE is operating in is highlgg competitive and
therefore there are a lot of companies to chose from.

This is because the potential court fines would very likely be substantial
and this would place_the company's_liquidity and therefore Tong term prospects
at risk along with all the bad publicity that could potentially

be generated as a result (for example, pressure groups with national media
coverage) which could Tead to existing customers to stop trading with cJE. If
this were to happen, sales revenué would drastically declipe and

therefore profit margins would be reduced as a result.

while meeting the

However, country Y is a rich nation that is expanding its fleet of "search
and rescue" helicopters and because CJE's engines are more expensive than
competitor engines and have a shorter after service agreement,

the government officials are also considering competitors.

As a corporate objective is_to match competitors' margins, by offering
facilitating payments, CJE could Tikely be offered the contract and because
profit mar?1ns in the helicopter engine market are substantially higher,

CJE could potentially raise its profit margins and satisfy its shareholders.
This is because if CJE reaches its objectives, shareholders are Tikely to- be
increasingly hapqy to invest in the company in future and potentially offer

Jarger capital sums for other business operations such as the potential take

ver or joint venture the company is considering and therefore offer potential
higher future prospects for C3E, which could also result in a higher

market share. é

0 This introduction
paraphrases
information from the
case study and does
not fulfil any
assessment objectives.

9 Knowledge of relevant
business terms here.

9 Understanding of the
possible consequences
of infringing the law,
applied to the case
study by linking this to
the level of competition
and existing
shareholder
dissatisfaction.

9 Further analysis of the
consequences of fines.
There is a well-
developed chain of
argument in this
paragraph, along with
some evaluation in the
reference to
Gubstantial6fines and
the drastic decline in
sales revenue.

6 Good application,
which links to other
data in the case study.

@ An effective
counterargument to the
previous paragraph,
both analytical and
well-founded in the
context of the case
study.
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Example candidate response i high, continued Examiner comments
To conclude, T believe that CIE_should not make "facilitating payments” to i -
government officials as there could be a potential long term dgmggg in their e Assegsmg th,e long
reﬁutation for a short term ?a'in. There is also no indication of term impact is a useful
ow large the contract would be in comparison to existing contracts with fd lopi
regular customers, which in quantitative terms can not be evaluated with the way ol developing
data presented, ] . evaluation. The
The potantial for expensive court fines could otentiaTw lead to a .
substantial loss of competitiveness due to all the bad publicity_generated and candidate also
the potential for Tower Tiquidity positions which would likely place CJE recognises that further
in a risky cash position. . . . o
However, CJE should also consider its objectives and the interests of gquantitative data would
shareholders in this decision as there could_be a potential raise in profit be useful in decidin
margins due to the higher profitability involved in the helicopter engine g

whether CJE should try
to get the contract.

Total marks awarded =
13 out of 16

How the candidate could have improved their answer

The candidate could have included further evaluative content in the main body of their answer. They could
also have structured their evaluation in the final paragraph more effectively; the last sentence did not offer a
strong conclusion.
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Example candidate response i middle

Examiner comments
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0 This summarises the
background
information to this
decision.

9 The candidate
demonstrates
understanding of the
use of foreign bank
accounts to make the
facilitating payments.

6 This shows
understanding of the
nature of the facilitating
payments.

@ This provides analysis
of the consequences of
making a bribe.

@ A recommendation is
made here.
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Example candidate response i middle, continued

Examiner comments
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@ Clear supporting
evidence for the
recommendation,
highlighting the risk
that CJE would be
taking.

Total marks awarded =
9 out of 16

How the candidate could have improved their answer

The candidate could have improved their answer by analysing more thoroughly the benefits and
disadvantages of making the facilitating payments, for example, the consequences for CJE of facing legal
action and/or the impact of losing customers if an act of bribery became public. The candidate identified

these issues but did not develop them.

Application to the case study could also have been developed further by referring to the competitive nature
of the market. For example, the candidate could have mentioned that customers could go elsewhere, or
considered whether or not CJE would need to make changes to their engine to service the helicopter market,
and whether or not they would have the capacity to meet increased demand. The evaluation in the answer

could also have been fuller.

Cambridge International AS and A Level Business 9609
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Question 4

Paper 31 Case study

Example candidate response i high

Examiner comments
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0 The correct equation
for calculating
operating profit margin
is given here.

9 An accurate calculation
of operating profit with
a clear method shown.

e An accurate calculation
of revenue with a clear
method.

@ A correct calculation
with a correct unit of
measurement.

Mark for (a)(i) = 4/4

6 A correct formula.

@ Adding additional sales
revenue is incorrect
here.

a As the candidate uses
the figure calculated
above, the own figure
rule applies here.

@ A partially correct
calculation of capital
employed. Intangible
non-current assets are
not included. Proposed
change to depreciation
is not included.

Mark for (a)(ii) = 1/4

@ This shows application
as it uses data from the
case study to compare
the operating profit
margin before and after
the proposed changes.

@ The benefit of making
changes is briefly
analysed here.
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Example candidate response i high, continued

Examiner comments
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A recognition of how
increased profit might
benefit CJE.

This shows
understanding of the
gearing ratio, but the
calculation of current
gearing (before the
proposed changes) is
incorrect. The
candidate shows
limited judgement in
identifying that the
change is not
significant.

Knowledge of window
dressing here.

An analysis of the
benefit of not giving
discount.

The candidate makes a
judgement here but
includes limited
support for it.

The candidate
demonstrates good
knowledge and
application in this
answer, but the
analysis and evaluation
are not developed and
remain in Level 1.

Mark for (b) = 8/12

Total mark awarded =
13 out of 20

How the candidate could have improved their answer

Cambridge International AS and A Level Business 9609

The candidate used their answer for (a) effectively and developed some of their analysis of the issues in (b).
However, most of the analysis was not sufficiently extended and contained only one or two links. The
response contained some evaluation, but this was underdeveloped. The candidate did not fully understand
the impact of the proposed adjustments; for example, the case study accounting forecasts predict that the
value of non-current assets will increase to $1295m. The candidate recognised that the adjustments involve
window dressing, but did not explain the impact of the change to depreciation.




Paper 31 Case study

Example candidate response i middle

Examiner comments
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0 A partial calculation of
new operating profit
following the proposed
changes. The impact of
the change to
depreciation is not
included.

9 A correct calculation of

new revenue following

the proposed changes.

Mark for (a)(i) = 2/4

e The correct formula for
gearing.

@ An incorrect calculation
of capital employed:

9 depreciation
unaccounted for

1 intangible non-current
assets excluded

9 net current asset
excluded

9 total non-current
assets excluded

9 sales revenue
included.

Mark for (a)(ii) = 1/4
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Example candidate response i middle, continued

Examiner comments
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6 This answer is in

context, as it makes a
link to possible
pressure from
shareholders to
increase profit and
recognises the likely
impact of offering
discount.

This deals with the
impact of extra
demand on market
share. Some low-level
analysis of lower prices
impacting brand
loyalty.

The candidate does
not explain why there
would be an increase
in overheads.

26
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Example candidate response i middle, continued

Examiner comments
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@ The candidate does
not explain why
shareholders might
start selling shares at
low cost. The analysis
lacks clarity in this
paragraph.

@ The candidate makes a
judgement, but their
supporting arguments
are limited.

Mark for (b) = 7/12

Total marks awarded =
10 out of 20

How the candidate could have improved their answer

The candidate partially calculated the change to operating profit but did not calculate the operating profit
margin. They needed to understand how to calculate capital employed from the data provided.

Analysis and evaluation were evident in this response, but only at Level 1 owing to limited chains of

argument and support for judgements.

The candidate should have included developed comment on the proposed change to depreciation; without

this their answer was incomplete.
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